AP Calculus

Chapter 2 Test Review

You should solve the following problems without using a graphing calculator.

1. Multiple choice. Find 
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, if it exists.

(A) ―1

(B) 1

(C) 2

(D) 5

(E) does not exists.

2. Multiple choice. Find 
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 if it exists

(A)5/3

(B)13/3

(C)7

(D) 
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(E)does not exist

3. Multiple choice.  Which of the following is a horizontal asymptote for
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4. Free response. Let 
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a. Find the domain and rage of f

b. Is f even, odd, or neither? Justify your answer.

c. Find 
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d. Use the Sandwich Theorem to justify your answer to part (c).

5. Free response. Let 
[image: image12.wmf](

)

2

9

x

fx

x

=

-


a. Find the domain of f.

b. Write an equation for each vertical asymptote of the graph of f.

c. Write an equation for each horizontal asymptote of the graph of f.

d. Is f odd, even, or neither? Justify your answer.

e. Find all values of x for which f is discontinuous and classify each discontinuity as removable or nonremovable.

6. Free response. Let 
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a. Find 
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b. Find 
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c. Find all values of a that make f continuous at 2. Justify your answer.

7. Free response. Let 
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a. Find all zeros of f.

b. Find a right end behavior model g(x) for f.

c. Determine 
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You may use a graphing calculator to solve the following problems but you should show all steps leading to your answer, including any intermediate results obtained using a graphing utility.

8. Multiple choice. Which of the following values is the average rate of 
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 over the interval (0,3)?
(A) ―3

(B) ―1

(C) ―1/3

(D)1/3

(E) 3

9. Multiple choice. Which of the following statements is false for the function?
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10. Multiple choice. Which of the following is an equation for the tangent line to 
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11. Free response. Let 
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a. Find f(3).

b. Find f(3+h)

c. Find 
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d. Find the instantaneous rate of change of f at x=3.
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